


P0 Px
P0 Px



P0 Px

P0 Px

f(t) =
2
exp

μ
4t2

2
s

¶
,

s

¿ sc

4
(Cs + Cr)

1/2, ¿ 1,

P0 a1a2, Px a1a2 exp

μ
0,5q2x
q2z

2
x

¶
; (1)

a1 =
V 2

8 ( 2
x

2
y)
1/2
;

a2 = 0,5asarc
1/2L 4(Cs + Cr)

1

μ
2
s c

2

16
+ 2 2

¶ 1/2

;

qx = 2 sin qz = 2 cos 2
x

2
y

2
x

2
y

L
V 2

s =
Ps exp( )

2
s

; r = r
2
r exp( ); Cs = ( sL)

2, Cr = ( rL)
2;

2 s 2 r

Ps
rr

P0 Px
2
x

2
y V 2



2
x

P0 Px

Px
P0

= exp

μ
0,5q2x
q2z

2
x

¶
. ( )

Px/P0
2
x

2
y

2
x

2
y

2
x

2
y

1
2
x

=
cos2

2
u

+
sin2

2
; ( )

1
2
y

=
cos2

2
+
sin2

2
u

; ( )

2
u

2

x

2
u

2



2
u = 3,16 · 10 3U,
2 = 0,003 + 1,92 · 10 3U,

U

2
u = k · 3,16 · 10 3U,
2 = k(0,003 + 1,92 · 10 3U),

k = 1/3
2
y

1
2
x

=
cos2

2
u

+
sin2

2
. ( )

2
x

2
u

2

U

k 1/3

k

k = 2
x

μ
cos2

3,16 · 10 3U
+

sin2

0,003 + 1,92 · 10 3U

¶
.

k U
2
y



2
x

2
y

M = ( 2
x

2
y)

1/2, (8)

N = P0M
1 =

V 2

8
a2. ( )

M
N

N 2

s
2
s c
2/16À 2 2

N

M N

M N KN = N/Nw N, Nw

N
KM = M/Mw

M, Mw M

KM KN

V 2 = 0,02 V 2 = 0,04
= 0 s = 10 L = 1

s = 1 r = 2 = 0,05
2
x

2
y

Af = 1

Cf

Cf = 0,009(U + 10)3 0,3296(U + 10)2 + 4,549(U + 10) 21,33.



KM U

Kr = 1,5

KN U

(Kr = 1,5)

KN KM > Kr

KN Kr KM



KM

Kr KN

P0 Px
Px/P0

2
x

2
x = 0,5

q2x
q2z

μ
ln
P0
Px

¶ 1

. ( )

U

2
x



P0 Px

Px
P0

= exp

μ
0,5q2x
q2z

2
xw

¶
2
xw

2
xw = 0,5

q2x
q2z

μ
ln
P0
Px

¶ 1

.

90

2
yw

2
xw

2
yw

2
x

2
x

K 0 = 2
x/

2
xw

K 0 2
y






